Soustraction Paques (B)

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: /25
299 138 127 254 295
- 157 -19 - 84 - 164 - 190
) W n A N A N S
199 245 206 219 37
-135 -72 - 84 -118 -8
4 N 4 N 4 . 4
272 78 150 86 156
-92 -32 -56 -77 - 89
R R N A N A
177 107 333 69 46
-12 - 15 -163 - 54 -33
4L . £ . £ £ 4
244 177 99 225 173
-126 -72 - 83 - 36 - 153
N N A N A N
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Soustraction Paques (B) Réponses

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: /25
299 138 127 254 295
- 157 -19 - 84 - 164 -190
142 119 43 90 105
) { Y { N { N 4 N {
199 245 206 219 37
-135 -72 - 84 -118 -8
64 173 122 101 29
) /: 0, 4‘ ) 4‘ N fj N /:
272 78 150 86 156
-92 -32 -56 -77 - 89
180 46 94 9 67
RN . . N L X
177 107 333 69 46
-12 - 15 -163 - 54 -33
165 92 170 15 13
. L ¥ L ¥ L ¥ .
244 177 99 225 173
-126 -72 - 83 - 36 - 153
118 105 16 189 20
X . - N X
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